LY de guie i) saxgl) duibxial Jac Gl

Calall = S Laid) 5 ol e il o) 65 8l LY zaliall ¢ zaliall 285e

11:12:24 2024-09-28 : zalial| 25 calod) délo) Zo i

Witthoft Carola :alac |

clsl ) a oo dall) i 423 aall) dno N dy il

sal) dlasl| dlasdl 1

1) dselm| Ba> gl da>| i : 2
ol faxg daxled gy e pye 3
gl uall 2 ) iy e pye 4

) el sl i e pe 5



https://almanahj.com/ae/id=27472
https://almanahj.com/ae/3math1
https://almanahj.com/ae/3math
https://almanahj.com/ae/3
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-09-28
https://almanahj.com/ae/teacher_id=1862
https://facebook.com/groups/grade3uae
https://facebook.com/grade3uae
https://almanahj.com/s/c3c1c9
https://t.me/almanahj_bot
https://almanahj.com/ae/network3
https://almanahj.com/s/406d5c
https://bit.ly/3snyjTF
https://bit.ly/3feRvzw
https://bit.ly/3d9pAOy
https://almanahj.com/ae/id=26943
https://almanahj.com/ae/id=26711
https://almanahj.com/ae/id=26710
https://almanahj.com/ae/id=26709
https://almanahj.com/ae/id=26708
http://www.tcpdf.org

Grade 3 : Math Term 1

Exam Practice

Unit 2




1. Use the bar diagram to find the missing number:

How will you write the equation? Choose all that apply:

a) 752-430=322 b) 430+?=752 c) 752—430 =232

_ Created by: Carola Witthoft: Al Bateen School -



2. Use the bar diagram to find the missing number.

How will you write the equation?

a) 366+425=?b) ?=366-425 C) 366+? =425

_ Created by: Carola Witthoft: Al Bateen School -



3. Solve the equation by decomposing :

a) 779—-363 =
b) 562 — 295 =
c) 932-822=
d) 134-68=

Created by: Carola Witthoft: Al Bateen School -




4. Adjust to solve.

a) 847 -332 =
b) 262 —99 =
c) 129 + 149 =

_ Created by: Carola Witthoft: Al Bateen School -



5. What is the expanded form of :
7,053

a) 7,000+53
b) 700+53

c) 7,000+500+3

d) 7,000+50+3
_ Created by: Carola Witthoft: Al Bateen School -



6. What is the expanded form of :
9,607

a) 9,000+600+7
b) 900+600+7

c) 9,000+60+7

d) 96+7
_ Created by: Carola Witthoft: Al Bateen School -



7. Round to the nearest 10:

a) 56—

b) 168—
c) 652—
d) 707—

_ Created by: Carola Witthoft: Al Bateen School -



8. Round to the nearest 100:

a) 129 —

b) 369 —>
c) 876 —
d) 433 —

_ Created by: Carola Witthoft: Al Bateen School -



8. Estimate the difference: (Round to the nearest 10)

869 — 552 =

oo

Created by: Carola Witthoft: Al Bateen School -



9. Estimate the difference: (Round to the nearest 100)

589 —-427 =

oo

Created by: Carola Witthoft: Al Bateen School -



9. Estimate the sum: (Round to the nearest 10)

245 + 362 =

oo

+

Created by: Carola Witthoft: Al Bateen School -



9. Estimate the sum: (Round to the nearest 100)

568 + 125 =

oo

+

Created by: Carola Witthoft: Al Bateen School -



Decompose the numbers to subtract
495 -122

495 -100-=,
1/-2Qa

r o,

Created by: Carola Witthoft: Al Bateen School -



Decompose the numbers to subtract
333-111

Created by: Carola Witthoft: Al Bateen School -



Adjust to subtract

373 -99

Adjust Addition Equations Adjust Subtraction Equations
224 +109 =7 333 —-212 =7
223 + 110 =333 331 — 210 =121
Subtract from one addend and Subtract or add the same amount
add that amount to the other. to both numbers.

If its -, you can

+ or -, but you
must do the same
on both sides

Created by: Carola Witthoft: Al Bateen School -



Adjust to subtract

856 - 332

Adjust Addition Equations Adjust Subtraction Equations
224 +109 =7 333 —-212 =7
223 + 110 =333 331 — 210 =121
Subtract from one addend and Subtract or add the same amount
add that amount to the other. to both numbers.

If its -, you can

+ or -, but you
must do the same
on both sides

Created by: Carola Witthoft: Al Bateen School -



Adjust Addition Equations Adjust Subtraction Equations

Adjust to subtract 2244109 =7 %%
2+§=333 331 — 210 =121

Subtract from one addend and Subtract or add the same amount
2 4 6 + 3 6 7 add that amount to the other. to both numbers.
If its + , you must
+ and -

Created by: Carola Witthoft: Al Bateen School -
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1. Use the bar diagram to find the missing number:

How will you write the equation? Choose all that apply:

b) 430+?=752 c) 752 -430=232

_ Created by: Carola Witthoft: Al Bateen School -




2. Use the bar diagram to find the missing number.

How will you write the equation?

a) 366+425=?p) ?=366-425 C) 366+ 7? =425

_ Created by: Carola Witthoft: Al Bateen School -




3. Solve the equation by decomposing :

a) 779—-363 =
b) 562 — 295 =
c) 932-822=
d) 134-68=

779 — 363 = 562 — 295 =

779 -300=479 562 - 200 =362
479 - 60 =419 362-90=272
419 - 3 = 416 272 -5 = 267
932 -800=132

132-20=112 | |134-60=74
112-2=110 74 - 8 = 66

You may decompose by values or
chunks. See Page 60

Created by: Carola Witthoft: Al Bateen School -




4. Adjust to solve.

a) 847 — 335 =
845 - 330 =515

+1 +1
b) 262 —99 =

263 -100 = 163

Created by: Carola Witthoft: Al Bateen School -



5. What is the expanded form of :
7,053

a) 7,000+53
b) 700+53

c) 7,000+500+3

d) 7,000+50+3

_ Created by: Carola Witthoft: Al Bateen School -



6. What is the expanded form of :
9,607

a) 9,000+600+7

b) 900+600+7

c) 9,000+60+7

d) 96+7
_ Created by: Carola Witthoft: Al Bateen School -



7. Round to the nearest 10:

a) 56— 60

b) 168— 170

c) 652— 650
d) 707— 710

_ Created by: Carola Witthoft: Al Bateen School -



8. Round to the nearest 100:

a) 129 — 100

b) 369 — 400
c) 876 —900

d) 433 —400
_ Created by: Carola Witthoft: Al Bateen School -



8. Estimate the difference: (Round to the nearest 10)

869 — 552 =

oo

870 - 550 = About 320

Created by: Carola Witthoft: Al Bateen School -



9. Estimate the difference: (Round to the nearest 100)

589 —-427 =

oo

600- 400= About 200

Created by: Carola Witthoft: Al Bateen School -



9. Estimate the sum: (Round to the nearest 10)

245 + 362 =

oo

600+ 100 = About 700

Created by: Carola Witthoft: Al Bateen School -



9. Estimate the sum: (Round to the nearest 100)

568 + 125 =

oo

600+ 100 = About 700

Created by: Carola Witthoft: Al Bateen School -



Decompose the numbers to subtract
495 -122

495 -100=395

1951_/- 20 =375

37(- 2 =373

Created by: Carola Witthoft: Al Bateen School -




Decompose the numbers to subtract
333-111

333 - 100= 233

533/ - 10 =223

2231/ - 1 =222

_ Created by: Carola Witthoft: Al Bateen School -



Adjust to subtract

+1 +1
373 -99

374 - _ 100

= 274

Adjust Addition Equations Adjust Subtraction Equations
224 +109 =7 333 —-212 =7
223 + 110 =333 331 — 210 =121
Subtract from one addend and Subtract or add the same amount
add that amount to the other. to both numbers.

If its -, you can

+ or -, but you
must do the same
on both sides

Created by: Carola Witthoft: Al Bateen School -



Adjust to subtract

2 2
856 - 332

854 - _ 330

= 524

Adjust Addition Equations Adjust Subtraction Equations
224 +109 =7 333 —-212 =7
223 + 110 =333 331 — 210 =121
Subtract from one addend and Subtract or add the same amount
add that amount to the other. to both numbers.

If its -, you can

+ or -, but you
must do the same
on both sides

Created by: Carola Witthoft: Al Bateen School -



Adjust Addition Equations Adjust Subtraction Equations

Adjust to subtract 2244109 =7 333 - 212 =7

o 5 vy

+4 -4 223 + 110 =333 331 — 210 =121
Subtract from one addend and Subtract or add the same amount
3 4 6 + 3 6 7 add that amount to the other. to both numbers.
If its + , you must
+ and -

350 + _363
= 713

_ Created by: Carola Witthoft: Al Bateen School -



